
4.3

2 2
=( --

P2-,

2= up

a = 1

1+  w,-
0

wep-,

(W,PP-,)/(W,  + W,P2J
I

= 1 (Sl3Bll%~Ulllb)

. . P = P2
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Md = f(P, rb, re. P", w, W) ( 5 . 2 3 )

~~ = f(P, r
rev

e
b. P l w. Y) ( 5 . 2 4 )
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?U’&In7T(5.24)  'kilUU616i  Y  Unld  W  ?utim7~(5.23)  k&&J71”  Y

L wslun1a  f l o w s  L&a’:4 W  ~dw6auti~  s t o c k s  &FI&  Y  UYIU?!  w  lralut-17~

(5 .23 )  ~hd&ifl71(5.24) SJtil4~~;1~  Lib f  '(u&I~II~  ( 5 . 2 3 )  uaa  (5.24),&d

first degree homogeneous function W&ii1

Hd = f( rb,, re, de. w, T )
-F

(5.25)

uar: y= v( tibr  re, be. w.  Y )

Md

(5.26)

n d = a??‘@ (5.27)
P

dd = n (5.28)
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.e
AP = e (p - pe’l (5.30)
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z
w = r~o~~%u~nls~7uao~Lm7l~l~l~~u~l~~~~l~m77u

(percentage rate of increase of wage rate in

industrial sector)

g=  = r~s~r~u~“l7~iuan~~~~~~~~~~~~~~~~~~~~u~l~~~~lum77u
(percentage rate of increase of index of wage-

earning per man in industrial sector)

s

P = ,~n~r%u~n7~r~uan~Al~,~~~~q~~~~~~~~~  (percentage

rate of increase of price index used to measure

inflation)

Y = i~o~r~w~n7ar~uanJwam~~~~~~$~$~~~~~~~~  (percentage

rate of increase in real gross national product)
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percentage rate of increase of output in agricultural

sector)

p* = P,(WZ - g2) + B,PO (5.36)
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p’ = f(SI) (5.37)

s1 = b(Y*a) (5.38)

dun17  ( 5 . 3 8 )  limd~1=6  S=  dL M increasing function nil*  y &:a 8 RJi
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1nZ = In X + In Y

d In Z = dlnXt&lnY
dz dX dY
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126

p= = II (S3) ( 5 . 3 9 )
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Mat: s=  = Y (Y) (5.40)

%& p= L&at:  s= oi74ik cl M increasing function tie-4  s3 unr y WlUEjlth

EC314 127



*
W = h(u,  p*,  p=*, sp) (5.41)
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1 + a,P
2

P = alp (5.43)
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p* = 8, tw2 - gal t fS,p=

p*  = f (S1)

s= = 4 (y,a)

ps = g (S3)

s3 = Y (Y)

2

W = h (u, py,  p=-,  s=)

s= = f3ty1

p = u,pi  t aep2

(5.36)

(5.37)

(5.38)

(5.39)

(5.40)

(5.41)

(5.42)

(5.43)
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